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ED-2003(S)

 B.Com (Part-I)

Suppl. EXAMINATION, 2021 
Compulsory

(Group–I)

Paper First

(Financial Accounting)

Time : Three hours

Maximum Marks : 75

funsZ'k&lHkh iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad leku gSaA
Attempt all the questions. All questions carry equal

marks.

bdkbZ–1

 Unit–1

1. f}&izfof"V iz.kkyh ls vki D;k le>rs gSa\ blls lacaf/kr fu;eksa 
dks le>kb,A
What do you understand by “Double Entry System” ? 

Explain the rules.

vFkok
OR

,d O;kikjh ds vizSy 2021 ds fuEufyf[kr O;ogkjksa dks tuZy
¼iath‚½ esa fyf[k, rFkk [kkrkcgh esa [krkSuh dhft,µ

frfFk O;ogkj jkf'k (`)

vizSy 1 udn jkf'k ls O;kikj izkjEHk fd;k 45200

" 4 udn QuhZpj [kjhnk 1400

" 7 udn eky [kjhnk 9635

" 10 udn eky cspk 7856

" 14 fd'kksj ls eky [kjhnk 2587

" 15 jkf'kn dks eky cspk 4123

" 17 cSad esa jkf'k tek dh 12000

" 20 /kukns'k }kjk futh iz;ksx ds fy, fudkyk 400

" 22 jkf'kn ls js[kkafdr /kukns'k izkIr 4100

mls cV~Vk fn;k 23

" 27 fd'kksj dks iw.kZ Hkqxrku fd;k 2570

" 28 cSad ls fudkys 4000

" 30 udn etnwjh nh 282

Record the following transactions of April 2021 in

the Journal and Ledger of a Trader :

Date Transactions Amount
(`)

April 1 Business started with cash 45200

" 4 Bought furniture for cash 1400

" 7 Purchased goods for cash 9635
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" 10 Sold goods for cash 7856

" 14 Purchased goods from Kishor 2587

" 15 Sold goods to Rashid 4123

" 17 Deposited into Bank 12000

" 20 Withdrew by cheque for personal use 400

" 22 Received a cross cheque from
Rashid 

4100

Allowed him discount 23

" 27 Gave to Kishore in full settlement of
him claims

2570

" 28 Drew from Bank 4000

" 30 Wages in cash 282

bdkbZ–2

 Unit–2

2. fuEu n'kkvksa esa lq/kkj djrs le; vki D;k lko/kkuh cjrsaxsµ
(1) tc =kqfV;ksa dk irk ryiV cukus ls iwoZ ekywe gks tk,A
(2) tc =kqfV;ksa dk irk ryiV cukus ds ckn o mpUr [kkrk [kksyus

ds i'pkr~ ekywe gks tk,A
(3) tc vfUre [kkrs cukus ds i'pkr~ =kqfV;ksa dk irk yxsA

What precautions will you take at the time of

rectification in the following cases :

(1) When errors are detected before agreement of Trial

Balance.

(2) When errors detected after agreement of Trial

Balance and Suspense Account has been opened.

(3) When errors are located after preparation of final

accounts.

vFkok 
OR  

31 ekpZ 2021 dks lekIr gksus okys o"kZ dh ijh{kk lwph
¼ryiV½ uhps nh x;h gSA 31 ekpZ 2021 dks lekIr gksus okys
o"kZ ds fy, O;kikj ,oa ykHk ;k gkfu [kkrk vkSj 31 ekpZ 2021

dh frfFk dk fLFkfr fooj.k rS;kj djsaµ
Dr. Cr.

fooj.k jkf'k fooj.k jkf'k
LdU/k 1 vizSy 2020 16000 cSad _.k 4400

Hkou 24000 fofo/k ysunkj 11600

fofo/k nsunkj 17000 iw¡th 32000

e'khujh 10000 foØ; 130000

vkgj.k 4000 dVkSrh ;k cV~Vk 400

Ø; 90000 Ø; okilh 800

chek o dj 1500 deh'ku 750

O;kikfjd O;; 3600 v'kks/; _.kkFkZ izko/kku 400

fcØh okilh 600 ns; foi=k 2000

osru 8200

Ø; ij HkkM+k 1250

v'kks/; _.k 300

izkI; foi=k 4500

gLrLFk jksdM+ 1400

182350 182350

lek;kstuµ
(1) 31 ekpZ 2021 dks vfUre LdU/k 12,000A
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(2) iwath ij 5% okf"kZd C;kt yxkuk FkkA
(3) osru ds ` 800 nsuk ckdh FkkA
(4) iwoZnÙk chek ` 150A
(5) Hkou ij 2% vkSj e'khujh ij 10% Ðkl dkVk tkuk gSA
(6) nsunkjksa ij 5% v'kks/; ,oa lafnX/k _.kksa ds fy, izko/kku

djuk gSA
(7) deh'ku ds ` 200 vizkIr gSaA

Below is given the Trial Balance for the year ended
on 31st March 2021. Prepare Trading and Profit &
Loss Account for the year ended and the balance
sheet as on 31st March 2021.

Dr. Cr.

Particulars Amount Particulars Amount

Stock on 1 April 2020 16000 Bank Loan 4400

Building 24000 Sundry creditors 11600

Sundry debtors 17000 Capital 32000

Machinery 10000 Sales 130000

Drawings 4000 Discount 400

Purchases 90000 Purchases returns 800

Insurance & Taxes 1500 Commission 750

Trade Expenses 3600 Provision for bad debts 400

Sales Returns 600 Bills payable 2000

Salaries 8200

Freight on purchases 1250

Bad debts 300

Bills receivable 4500

Cash in hand 1400

182350 182350

Adjustments :

(1) Closing stock ` 12000.

(2) Interest on capital to be paid @ 5% p.a.

(3) Outstanding salaries ` 800.

(4) Prepaid insurance ` 150.

(5) Depreciation 2% on buildings, 10% on machinery.

(6) Make a provision of 5% for bad and doubtful debts.

(7) Commission earned but not received ` 200.

bdkbZ–3

 Unit–3

3. Ðkl D;k gS\ Ðkl dh O;oLFkk djus dh fofHkUu i)fr;ksa dk
lw{e esa o.kZu dhft, rFkk izR;sd fof/k fdl izdkj dh lEifÙk
ds fy, mi;qDr gS\
What is depreciation ? Describe the different

methods of providing for depreciation in brief and

mention the assets to which each such method is

suitable.

vFkok
OR

,d dEiuh fy‚ ds e'khujh [kkrs essa 1 tuojh 2007 dks
` 40500 dk 'ks"k FkkA Ðkl 10% okf"kZd dh nj ls ?kVrh Ðkl
fof/k }kjk yxk;k tkrk gSA 1 tqykbZ 2007 dks dEiuh us ,d
e'khu ` 8750 esa csp nh tks csdkj gks xbZ Fkh ftls 1 tuojh
2005 dks ̀  12500 esa Ø; fd;k x;k FkkA mlh fnu dEiuh us 
` 25000 dh ,d ubZ e'khu Ø; dhA fnlEcj 2007 dks
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dEiuh ds Mk;jsDVj us 1 tuojh 2005 ls ?kVrh fdLr i)fr
ds LFkku ij LFkk;h fdLr i)fr viukus dk fu.kZ; fy;kA
iqLrdksa esa o"kZ 2007 dk e'khujh [kkrk [kksfy,A
A Co. Ltd. has a balance of ` 40500 on 1st Jan u ary

2007 in its ma chin ery ac count. 10% p.a. de pre ci a tion

was charged by di min ish ing bal ance method. On 1st

July 2007 the com pany sold of a ma chine as it was

use less for ̀  8750 which was pur chased on 1 Jan u ary

2005 for Rs. 12500. On the same date the com pany

pur chased a new ma chine for ` 25000.

On 31 Dec. 2007 the directors of the company

decided to adopt the fixed method of depreciation

instead of diminishing balance method from 1st

January 2005. Open machinery account in the books

of company for 2007.

bdkbZ–4

 Unit–4

4. tc eky fdLr Hkqxrku i)fr ij cspk tkrk gS rc Øsrk vkSj
foØsrk dh iqLrdksa esa ys[kkadu ds D;k ys[ks fd, tkrs gSa\
When goods are sold on Instalment System. What

accounting record is made in the books of Buyer and

the seller ?

vFkok
OR

,d VªkUliksVZ da‚ us fdjk;k Ø; i)fr ij 1 tuojh 2015 dks 
M vkVkseksckbYl ls ,d Vªd [kjhnkA Vªd dh udn dher
` 320000 Fkh ftldk Hkqxrku fuEu izdkj ls djuk Fkkµ

    `

1-1-2015 100000

31-12-2015 80000

31-12-2016 80000

31-12-2017 82478

M vkWVkseksckbYl 5%] okf"kZd nj ls vo'ks"k jde ij C;kt
ysrk gSA Øsrk dEiuh us 20% ykxr ij izfro"kZ Ðkl vifyf[kr 
djuk r; fd;kA rhu o"kksZa ds fy, VªkUliksVZ dEiuh ds
vko';d ystj [kkrs rS;kj dhft,A C;kt Ðkl rFkk fdLr dh
jkf'k dh x.kuk Hkh fn[kykb,A
A transport Co. purchased truck from ‘M’

Automobiles on 1 Jan. 2015 on hirepurchase system.

The cash price of the truck was ` 320000 which was

payable as under :

    `

1-1-2015 100000

31-12-2015 80000

31-12-2016 80000

31-12-2017 82478

‘M’ Automobiles charged interest @ 5% per annum

on the unpaid amount. The purchasing Co. decided to 

write off depreciation @ 20% of the cost price each

year. You are required to give the necessary ledger
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account in the books of the transport Co. for three

years. Also show the calculation of interest

depreciation and the installment.

bdkbZ–5

 Unit–5

5. ‘A’ vkSj ‘B’ us 31 fnlEcj 2008 dks vius O;olk; ds
lekiu dk fu.kZ; fd;k] ftl fnu mudk fpV~Bk fuEu Fkkµ

nkf;Ro jkf'k lEifÙk;k¡ jkf'k

ysunkj 12000 jksdM+ 2000

‘A’ dk _.k [kkrk 16000 nsunkj 10000

iw¡th % LVkWd 40000

 A 40000 Iyk.V 28000

 B 20000 60000 [;kfr 8000

88000 88000

lk>snkj viuh iw¡th ds vuqikr esa ykHk o gkfu foHkkftr djrs
gSaA fofo/k nsunkjksa ls ` 8400 olwy gq,] LVkWd ls ` 36000

IykUV ls muds iqLr ewY; ls 20% de vkSj [;kfr ls
` 12000 izkIr gq,A ysunkjksa dks 5% dVkSrh ij Hkqxrku fd;k
x;k vkSj lekiu dh ykxr ` 1200 gqbZA vko';d izfof"V;k¡
dhft, vkSj olwyh [kkrk o jksdM+ dk Hkqxrku fn[kkrs gq, vU;
[kkrs Hkh cukb,A
A and B agreed to dissolve their business of

partnership on 31st Dec. 2008 on which date their

Balance Sheet was as follows :

Liabilities Amt. Assets Amt.

Creditors 12000 Cash 2000

A’s Loan A/c 16000 Debtors 10000

Capital : Stock 40000

 A 40000 Plant 28000

 B 20000 60000 Goodwill 8000

88000 88000

The partners share profits and losses in the ratio of

their capital. The sundry debtors realised ` 8400,

stock ` 36000, plant 20% less than the book value

and the Good will ` 1200. The cred i tors were paid off

at a dis count of 5% and the cost of dissolution

accounted to ` 1200. Pass the nec es sary jour nal

en tries and open the dis so lu tion ac count and other

ac counts show ing the fi nal dis posal of cash balance.

vFkok
OR

lk>snkjh ds lekiu dk D;k vk'k; gS\ bl laca/k esa QeZ dh
iqLrdksa esa dkSu&ls ys[kkadu ys[ks fd, tkrs gSa\
What is meant by partnership dissolution ? What

accounting record is made on dissolution of

partnership ?
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